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Complete the part part whole diagrams in twe
alferent

WIS
Circle the fast thot equdls 20
13+9
17 +6
4 +19
12+ 8
Firu the missing rismber
15+| (=20

Complete the part-part-whole dagrom

O @

Maotch eoch calculgbion to the ordwer
8+9 20
7+11 17
6+ 14 18

Fnd e msingdigh




A bus hos B possangers,

10 passengers get on the bus,

Colin has collected 17 stickers.

Colin gives 7 slickers o Coco,

Colin

How much money do Colin and Coco each have in their jars?

stickers

sss

Circle who has the most money.

Coco
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1
Circle the shapes with one half shaded Circle - of the stars:

B — P8 "‘4_
A




